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woa & (1) T F i & (M) THEBIAMEE (1)
BB G 43,354,440 40,143,000 (A) 3,211,440
AL Rt 45,975,600 42,570,000 (B) 3,405,600
E LR | 39,549,600 36,620,000 (C) 2,929,600
PAL I = | 41,940,720 (F) 38,834,000 (D) 3,106,720 (E)
MR 2,391,120 2,214,000 177,120
G (B) X (C) =+ (A)=(D) <X (DVEFHIED- - T T OB T>

(D) X0. 08= (E)

(D) +(E) = (F)
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RETZEEI REtEHEE .
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® H T Y AT S8 | B Hf B o | EUEEE W
[EREZAR %
| #%ETH 1 K 30,497,648 1 X 32,519,352 2,021,704 FE%E
II| EXEE LS 1] 673,107 1 = 673,107 0
EE T HEE 31,170,755 33,192,459 2,021,704 HA%E
Him gy
[ ek 1 K 1,598,228 = 1,651,763 53,535 HE%HE
| BUGE e 1 =K 3,585,853 1 = 3,719,869 134,016 |H#E9%H
— X B 1] X 3,788,172 1 K 4,005,924 217,752 H4%A
Fam 8,972,253 9,377,556 405,303 | H4%E
EFF 40,143,008 42,570,015 2,427,007  BA%E
XA RE (L FMm k) T A0 40,143,000 42,570,000 2,427,000 BE%H
TH B Bl S AH 24 %R 3,211,440 3,405,600 194,160 H4%A
WA (LEE) 43,354,440 45,975,600 2,621,160 B4%H




% FOPERAEENEMBETE No. 2

REtEER REEFR a3

# H T Y AT Yy g mE BE o | EUEEE W
I |BETSE

-1 |3 BREREL Kt s T2 F2V 5,779,766 = 5,779,766 0
[-2 |fRBERESMEEM s T 5 FaV 18,247,177 Y 19,577,055 1,329,878 H4%H
-3 |$ s EE(h s T2 F2Y 6,470,705 = 7,162,531 691,826 |P4%H
Gt 30,497,648 32,519,352 2,021,704 HA%A




2 W FEOPERAEENEMBETE No. 2
RETEEAT RETERR
B ] = ESIBEE K&
® ME B B4 {h &% HE B B {f &% ;
-1 |EEFKthSETE

1 |[EERGETE 2V 726,110 oy 726,110 0
2 |BhKITE = 4,945,724 = 4,945,724 0
R U AR g 2V 107,932 oy 107,932 0
&t 5,779,766 5,779,766 0




2 W FEOPERAEENEMBETE No. 2
RETEEAT RETERR
B ] = ESIBEE K&
’ w2 | B B &% B M HE 24 ;
[-2 |(ABEESNEhIET S
1 |[EERGETE 1 X 7,660,240 1 =X 7,660,240 0
2 |BhKITE 1 K 3,883,828 1 =K 3,883,828 0
3 |MMEETE 1 X 5,887,599 1 = 7,217,477 1,329,878 B4%g
4 |[BEETEH 1 = 332,747 1 = 332,747 0
5 |z 1 =X 482,763 1 K 482,763 0
&5t 18,247,177 19,577,055 1,329,878 | Ha%H




2 W FEOPERAEENEMBETE No. 2
RETEEAT RETERR
B ] = ESIBEE K&
® w2 | B B &% B M HE 24 ;
[-3 |Fffii st B2 fhiE T =
1 |[EERGETE 1 K 1,537,560 1] =X 1,537,560 0
2 |BhKITE 1 K 3,123,674 1 = 3,123,674 0
3 |MMEETE 1 X 1,241,626 1 = 1,933,452 691,826 %
4 [BETEH ith 1 = 60,222 1 = 60,222 0
5 |z 1 3K 507,623 1 K 507,623 0
&5t 6,470,705 7,162,531 691,826 HI%H




